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Crack the currency code

Name:

On page 2 there is a message to be uncovered. To crack the code you need to work out which
number represents each letter of the alphabet. Some letters have been provided for you, but you need
to solve the number sentences in the table below to complete the code (the missing number in each
equation is the number you record in the table). Good luck!

A B C D E F G H I J K L M
S 1 _ 52 R R 9 S 60 2 S 21 45

N O P Q R S T U \Y W X Y Z
_ 3 _ 77 28 S 19 84 _ 7 _ 55
A equals 2x9)-4=__ N equals 3+5+7=

C equals MxMM)-9x9=__ P equals . +16+5=52

E equals (75-99+M1=___ S equals 7+9+_ =27

F equals - —-(B5x3)=2 T equals 64 +8 =

H equals (7x6)—-6=__ W equals 132+ =1

K equals 81-68=__ Y equals 7x8=
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8 36 6 45 60 15 8 40 14 15
3 28 3 52 19 40 6 F? ?T 8 12 3
45 60 21 219 60 3 15 40 3 60 15 N : 52 14 56
1 60 15 40 6 15 60 15 6 8 6 6 15
1 60 7 8 56 1 60 7 12 36 6 15
52 6 40 60 45 14 21 40 19 28 28 6 15 40 56
12 14 1 60 15 8 28 3 52 19 40 6 52 60 15
14 19 N 8 28 14 21 60 14’ 8 36 6 45 60 15 8
36 14 1N 3 28 3 52 19 40 6 52 45 3 28 6
8 36 14 15 17 60 17 8 6 6 15
1 60 21 219 60 3 15 40 3 60 15 1N
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